[2—X%F 100m]

Rank [ 2 hF i MERE [FIE
MR XE IR B E |BEXS
205% #EF 1343 72 B (EBES
3| # Ea’% thh5 1% B E |EBRES
4|1k =¥ #b9 EF3 W EHRS
5% H 7//\ N 754 7o - H " |BHEAIKXENS
bR UNLD 75FA" thlb B M [EXmias
AR 3D 75% ¥/ I B |EBRS
8| HEFE 75 F #4h X 5 | KoOEBES
9IXKM HBE sk 191 B M |RMWIE
1001 KB PVER ) X I KRS
11U BZEE Y91 EF3 B B REBES
12X EEF YYEL YB3 F E |EBREFS
IKIESINERED IN AN - (3N RS
14|FE Ut bk X &R |KERS
[HEC - 1% 473 = A |FHEHES
HMEESY- YYER pFI B B |EEits
171810 $EF h Y Ef3 *x W [IFNERES
18[#EK Sit 95% 433 E #H |EES
19— =B {9+ 3t = E METES
20|F%  ERfd N33 MH | KEES
21|08y EE th/ 3ab T A T FE

[2—X%F 200m]

Rank E’éﬁ JUHF ERFE [FiE
&l EE THYY 44 E B |[WIfs
AP THhh 19t B W ENMWIS
NI #1E ISEES = F EEE—S
Al EBH This 1% B E EBSES
bIEE it N 323 M H | KEES
6| L8 & N1/ /)Y 3 B B | BRELFES
RS 745 4 Al |E#ES
8|k BEF #19 Ef3 W # [EEES
9|hEy EZE 13/ 33k T A |TREE
10— =X 1yy% 3% = 8§ CELEETS
1Mlish BHEE Y91 EF3 & B KEBES
128 UMD D5FA" Ehlb B M |EXfmis
13| KA HE FEb 7Y X R |EXERBES
14|95 KB N3 13l B £ |BEXS
[HETIR S YN ¥V Hh T A | EPES
16|iE4X EH NER 71 B E %EI"BE.—;
178 = a9/ M3 =] Ea
18| K+ ImiE L5 32K K R |KBRERS
19|85k BAZ] YATH 7hY F ¥ |RUEs
008 HT= h 97 X% AL

[2—XZF 400m)

Rank |Fx# 2V AT 3 EFE [FiE
MEEEF WEF 13 % [ [EMMis
2058 #FF IKISIE BB | EEES
J|IRAR EE b 740 X R |EREHES
4/h Rk EH mry v B = |/N\EFE
Sl HEEF Y4¥ 13 A  |EEs
6|RF BF P E X R |EREHES
J|BR@ &% R VIEVE E TS
8|#H EE 5 B M |BRhiIs
9IF ZEX E) 93 BEREE |EREXFE
10(#3% 70 ¥ JE % X & EXME
11|28 #F 174 19} # E |HEZEES
12[FHE ZTKE Y5 743 B B [BRELSES
13|/hE FE 194 A3 NI EE 3
14|18 H9 = A F AL T O |EHas




[2—X&F 800m)

Rank | 2 HF Stk (BERE [FiE
1A FERF vWEL $13 2:08.54[8%% R [EfAtim
2([MHE EF s ha 2:09.16|%& 1E J\IBES
J[BEH #E 15 YA h 2:09.45|8H = )
AR = N 93 1Y 2:00. 47| B |[EZES
bliIR #M&D yyE 1%/ 2:10.05|F 1B |EtHEAS
6|1FE Z 1y /7 2:10.35|2 B |[J\BES
1;hE  FTEF 175 9h3 10.68| K i |OMs
HEEES R 10,7718 X |BBFEs
IXKE #HF Hng 393 1.4l B |HEES
10|+ #IF IS IPEVE 11.10(F E£ [ERES
ME BKF Wt #43 11.22|8 = |BAEXHAES
1288 XY VIR Y 11.64[F E |ZEES
13| E4F EE 9IL3 NI 11.97] #8  |HASIIKAES
4|EH ¥% ReIES 13. 24| K I EBES
15[K+ #&= L5 THH 13.30H H O |EREHEES
16[XE  #li5 13b 9 A3l 13.31[88 X [BEXEE
17| Rk EF INVEZE :13.38|3% [E ENTES
18I/hNE = 19 4% 1373 E % [AFBFES

[2—XZF 100mH (0. ]

Rank |E% 2V HF 082 | MEFE [FIE
A7 el & ISR 3.5|R % |[REXEe
2LE@A -+ B #7487 4414 B4 13.97[8 &= [KMCREEES
KEEEES] 7Y %) 1t 13.97[3% M [EMWHIE
4ER K X HE 7V 13.9[2 F [EEE—5
HEEEES S 77 3% 14.08[i 53 £ [AEE
6[ZH ¥HE #74° Yal) 14.15|5 = BHEZES
INRAR FHE VEVIEY 14. 18|82 HES
8lihE KE 1553 1Y) 14.19[48 M |PHFELZES
ITH FT4& Y85 2 11 14.21|[1 B SICES
NEEEES E MR E] 14.26[l0 &  [LEFEE
HEEEES Y24 7%t 14.30| K R | CDIES
12|1E ¥ WA T7Yh 4.3 B |BIFE=ZS
13[BX =i hYvh FEI 14.36|82 M |=8d5
14| KFE EHFF 11k 143 14. 41| X bR EXLFRS
15| EEMES iy #13 14. 4113 M |EWMHiIS
BIEEES Thh9 73 14. 43| FE BHEFES
17/8RH 8K 145 34N 14.45(F = HimEs
18|8HH EE A5 vt 14.46/37 B |¥iBE=
19[8K =P AAF 39 14.48|F E [HupiEs
20088 =8 I 14.50(#=)l|  |FEXEES

Q|8 HE {7kA 73 14.50| & |#IES

AR EETL VIR 14.54[E) [RBE
WB[ERE R 7Y 093 Ax B 14.55|% % |HBRAES
24| R mk3E hEh 14.57|K BR |HBCHE
6|EE ER IV T T 14.58|% %1 |PHERKFES
68 SiE 7393 1 14.59|[ 1L [B¥dRs
PESE] i 73y 7% 14.60|I5;, E EREES




[—ZX%ZF 400mH (0.762m) ]

Rank |4 $F |JUHS SRk (FLERFE [FiE
Eh &ia 96 |wU4F Pk 1:00. 26[#Z]1] HEs
20H %A 96 155 +9% 1:00.38|1% = BEXRS
EEH = 96 ]9) M3 1:00.76|1lL 0O RS
4hNFlE FE 96 |an¥ A3 1:00. 78|#=JI MRS
S|¥AFH #0 96 |34 /M h 1:00.82| K Br |EXME
6|ME+T HEFY 96 445 1Y 1:00.98]1%= B RS
J|EHE  # 96 1hy I 1:01. 06| % B Eklﬂi%&ﬁ%
8| {ERF 97 +hh v 93 1:01.27[ERE ERES
9[Fm EMm 96 EInNg Wk 1:01.61| & & IEE?—Im
10]H 7K i 97 |7 32 1T 1:01.69(F #F RAXE S
1MPMNIEA HEH 96 Yy 313 1:01.84|[ B EBES
120 EkF 96 ¥+ ¥4 343 1:02.00|F = FiR&ZFE
138 EX 96 [751A ¥4 1:02. 00| 3% E=tE
148k &EF 96 (7Y 37 72 1:02. 12| B |BUIZRS
15[lLN & 96 99§ 13 1:02.26|1 % = BEXS
16|#EB {£HE 96 |¥vs iz 1:02.59|K R [KIES
17A7 e & 96 [AV7TEM 25 1:02. 3| #8 |[FEXES
18|H%0 FE 97 )0 F hlY 1:02.79|3% = EEZEES
9FE B 96 [thv5 DY 1:02.79|3r 85 [AHES
20(8A XK= 97 3y 1:02.92|1%8 [E 2#%s
211INR LA 96 w3y 1:02.94|% H SRS

23 B4 97 by bt 1:02.96| & & BERES

[2—XZF 4x100m]

Rank | F—L%$ J2UHAF SER HEFE

1 [BEEs FO57FHIIN 45. 3% %
2EMTIIS NTYIY 45. 73|18 I
JEELXS 1273539 45.90[JtiEE
4 *E,i.—, PEGED] 45. 91| #Z)1]

HES= EEVED] 45. 96| =
6lFiBES =R PEVED] 46.33|F B

1| AMERS $29919% 94V 46.51[R8 K
8lixEdts bS] 46.60[4% &
NEIE ] AV Y93 Iy 46.73|%%
NEXSEE SRS FALIH HIVY 3van 46. 77|48 [
MEHFRE h39%F191937 46.80(F L
2| FZHES FI9MFN T 46. 83| #P
13| K& VERDED] 46. 89| X R
14|BEREXFE ENEED 46. 2|EERE
15|EME—S TAhs 414739 46.99|2 F
16K ES Eh VAR 474 47.00[K R
17|FEEES S MEVELVED] 47.04[F &P
BEEE #N VIS AT 47. 11 K
IRIENEEGSS VEVENRED) 47. 12| &
EEEISE AWV 4. 15| &
IEERS I VED] 41178
|EEBHES YIS WED] 47.18|1%Fm £
PRIEACT=) [ VIVED] 41.22|1%8 F#
U XD ERES TH5%% 75 43 47.25| K &
25| EE 11419 47.26(F =
26| Z2ES Y hya9 47.271% 40
IEGES R DEVEMEGED] 47.30|% ik
R EEITE = IAGEZED] 47.30{F08x10
V|/\EFS NFFDY Y 47. 39| =




[1—X%LF FEEB)
Rank |[E % % (DY HF EiRECEk (AEFE [FIE
1EHE Y1971 96 [v% V174 mlA[K R [BARBES
20WF %K 96 4 ¥ m73|Z &0 LN
RIS 96 [Ax5 B m/1E &  [FhaiEES
A|E5HE HHE 97 495 ax'% m/ljE W [FisS
HETEES 97 THYY 193 1m70| 2821 JISTHIIES
6|aE Ef 96 1917 )4 im0l B EEMES
1EH =m 96 195 3 1m69|&E I EEPRE
BlIER %XEBE 96 [t¥EL 7HY me9E [E —tr4tﬁsé%
I=x FE 97 [3TEb 19h 1m68 |1l | )1 Sz 4 5
NS 96 1145 )Y m68(iF = B
11[F8 @w= 96 |735= #I3 me8|E H  |ETES
12[Ih#k BZE 97  [an¥y vt me8|& = |RNFHS
13[1487  &HIE 96  |Th/ b 1m68[t2 [ b ZEELS
14|EX  HE 96 [MEN AR T m68ie #8 |IEH:AS
15 j(ﬂ]lﬂ (4) 975\ 96 175 a9 1m68|E X0 25
16|=H E 96 195 Y1 1m67|= LU ELES
17[E BEE 97  ¥vV I Vit me7|= E EREE
18| K¥ F& 96 |tt4h Fh mé7 |z # |TEES
19[/h 8y = 97 |1/ 3% mé7| & % |E/HS
PO ETEVE S 96 [SACEREY m67(% B ek
21127 M E 97 474% iK% 1m67| K BR PN
2|08 Ex 97 |thh3 14 m67|&E & EIEZS
23|4EH E# 97 1795 #* mé7|K PR |RXEFS
24|80 BE 97 WEF ¥ 2 m67|F = HEXS
5B EKE 97 [Y32 #¥h m67[F ZE [J\FRIEES
26(07 =B 98 e m67{% 40 ] U5 3k e
[ —2&F #E)
Rank % 5 (DY HF Eigiitk |EREFE [FTE
KE & 96 [3x W7 45 3 M60[F%F M [AKES
ki = 96 [ 74 3m0[E %1 |FEAFEES
IEJI FIg 96  [3¥h 7 ik 0|2 H |[HESHS
Ak BE 96 [ ¥y 3t Md0[= E  [#EaE
HE3VIERE 96 D4+A" T9% m3|E = RERBHS
HEENETE: 97 TYERSTE m0|Fm E PE—S
1&E HF 97 ANy H1a 3m30(F E ENEs
8| KRJII =EFE 96 f7HJ'7 74h 3m30|&F I HEFHhLRE
&k BE 97 a7 3vh m0|= #  |[FBS
10[E  Fix 96 THE Ut m30|zx E BAES
11|EE 75 96 74y /) 7ht 3m30|lf E BIRERES
RIEEE == 96 Y3y 1%t 3m30[ K fx XES
13|78 EH 96 FA V1 m0|E & BHEES
14|XE &£ 96 [790° % bt 0|+ E | KEEKRES
15[/\KE FZx 98 [¥¥ 5 it 3m30|E% M |[BKES
16|FE K 97 M7 R 3m30(E% EHES
[HEZNED) 97 Az % 3 3m21|8% M RS
18[4EH FE 4 9% [ 4 Tt 00 B [FIs
19[4l Bx 96 33vv 741 3m20|& Il BEF—5
0|BEX =# 97 NEM 3% n0(FE E MM AIES
|F #=E 96 [nF 13 0|E H |[EEs
2| tiE 96 150 Y 113 m20|F =E EfFE ZFER
W[ES BEE 97 |98 4 By 0|+ E |[EREXER
0K EBENE 97 ®} U/t 0(F B BEE S
25| R HHE 96 ¥4+ 718 dm20| &  H ETREES
26[E2 % Ef 96 [#77) 72 Im0[x B | KIELXS
213REH F& 96 |¥h4 Ft m20[X R [XKES
28|71 HEE 96 N4 7ht m20(3F E BE S
9|8 HR& 97 |t/ ¥ 3m20{F &R |dbuEi
WNESE KE 96 1942 % 1) 3m20|%& %0 ElEE o)
MR KB 96 |519F 7Y 3m20(& &0 ElE )




[ —2%&F EtES]

Rank & |JUHF B8tk [FEFE F&E
IESCANEES 97 [7v% #/h 6mil[E2 [m R RREE
AN 96 |nhy 41Y 5mI9|m=  £&B E%‘BK?&N
3IFME tilE 97 97/ 33 bm88(iE E BEXS
5 = 07 [{wnv %% SmebifE LI |[EFHAES
5|EXR BE 96  [\3EF 2/Y me3lE E |ERES
6|BII REF 96 1Yh7 133 5m82|K Bk EE5
T#l &= 96 [h3rv 7¥% SmBllth K |HEREGAS
8IILFT K& 97 |3V 19 mi8| K R | KEZFRES
IAA FiE 96 [=%h 73 m76|dbiEE  |BEEdLES

10{7k O 5 97 NWEED I E Eﬁ—?—.r—a
1T[KZER B 96 [ 41 4 midlE W |ERELS
12|43 #HEBE 98  [wih a1 midliz E  |BEXS
13|BTH  2h = 96 Y5 UhY mi3[E B RES
=R B 97 3N T4% mi3|lE B [BRES
15|54 *Lt 97 ahny bt millE X BRa
16| K@ b#d 96 [t1m7 ¥% millE B |BIIERES
17| % %’% 96 |/9/ hE3 Sm70{ll O AR e
18|53 i+ 97 434 112 5m/0|E H  |HE=
198% uhY 97 [t/ thY mi0ldtiEE | GMEEES
[—X&F ZERBK]

Rank |4 5 [JUHF Eigiiex AR ETE |F
AR B3R 96 ot V7 12m08[lF E = 2l 15
218l REF 96 |4¥7 aia 12mo4|Kk B [{EES
KIN= YY) 96 [31F thY 11m89[ %I Jllﬂﬁn_ﬂ%ﬁ
[l AR ES 96 [avh 9 a3 11m86|I & [ILEFRES
S8 HUT 97 1R 47 11m83[1L 3! IJJ*”"LW'"I—:
6l;5k BIED 97 YIZT 11m81|3E E S
i ﬁﬂ%’s D] 96 |#by %1/ 173 E [FE ".r—x
9 Etﬁ & 98 45L7 7HY 11m60[ZE &R RS

10| £ H 4 96 |44 /Y3 11mb6|Z 40 =i

11 ﬁJI M 96 |4F#7 3%3 11mb6 | Z= 1| BERKEES
13 I\EEI ERE 97 [#5 Ty T1m41 |21 HEZES
4[xH FE= 97 b4 F£3 1Imd0[E & EHZES
15[/ BE 96 [In ¥y 1) 1md0|E = |IFIXFS
16/MNER wY4 |96 |45 497 1)t A EEEES BEXS
17a =K 97  [nhhz 4% 1Imd0[z & |FEEEBS

18| K# & 97 [#v% 19+ 1m39[F ¥ |BERFEK
19|7EK EF 96 YIX Fha 11m39|3% 3% AMARFE
20(2% 1AL 96 [kY/ hiT 11m37|#% £ AES
2118k TH 96 |hdky 74Y 1m37|F FE |HIftE
AESCIE S 96 [y 3 11m35(3EF E E“E"“‘.n
B|E X 96 [3AR TUT 1m35| &% |FEHES
4| B 96 |#4b ik 11m3b[= E [EAS
2b|UR BRE 97 ¥V I Vit 1Im34|= & |EKRKEE
26|F%HF ¥ 96 |EU4 T¥/ 11m33|z & |FEHES
211148 &It 96 Th] nbh 11m33|48 hHZEEE
28|==¢ & 96 vh 713 11m32| [ 1L EHALES
9|/\F K=& 96 |t 19 11m32[{& 40 EE PN
0[5 RicF 97  [pv¥ 1%3 1m0z #F  [ARS

31| BE 97 =¥ 14 11m30(3 & KEBES




[2—R%&F mi @ O(’)-é)kg) ]

Rank EE [JVHF B HERE B
1[FEfE F£ 96 [{V'F 71 K EECEEE R
AESESIE 5 97 Y3 A3 13mb9|#8 M |BEHTES
KN 96 [YvEb 1B 13m35[F I BHEFhry
4| EH BHHE 96 194 72D 13m09 % ¥ |ZRBIAMS
SEM FE 96 |eang v% 12m8lE B |[EEREE
ANEECES 96 [#7/ $13 12m82| K &» | RPEHES
PAE:S */zﬁ 97 |3ty 11 12m79[X BR  [EXRBE#HES
S 96 (A ¥ /Y3 12m74|F E [FERHES
[EES EHH& 97  [#hEh H1 12m66|F = [FHREFS

10|F% e 96 |¥) 1% 12m63| K B AES
11|E3R  BH 97 [h3¥h 194 12mdl |l |[BEAfS
12|28 #%HEZE 96 |Yay 1yt 12m38| & & EHRS

13|15 FF = 97 14 39 12m31| K B SEXRME
A =EERES 96 918 F13 12m30|E 1l [EUSE
[HEREEES 96 4mF 193 12m27|3% =% NoKes
16|88 i 97 [4xAn5 v 12m9|fE 1 | EHAES
17|E 5 = 96 41h 344 12m08|fE LU EHGRE

[—X%&ZF M#% (1.000kg) ]

Rank £ &5 | JYHF Eigirix #ERFE |FRE
115H# HBHHE 96 194 TAh 43m69[F& Ik ZHTANS
28K BRI 96 Y32 1 42m28li% B BEFEES
KECES] Ed 96 |FA7 HhI 40m63|E L ELSE
NEE I 96 [hH4 7H4 3IIm37| K BR [EKME
lEEE #HRE 96 [YlF ¥an 3Im20| & E HiEBs
6thFE EFE 96 |47t b JM2|ERE  [BIS
1Bk B 97  |h3h 19% 38m42[tZs)Il BEAS
8lEEE =< oF 96  [LM #4933 B4l | & BHEES
e 97 [a¥' 5 4% Bm07 | E |ARAES

NEENGES 96 [¥%774m 743 3Mm9ie #2  |IEFHAES

11[EE EY 97 pLENIE 37m89| [ L RES

12[FE HF 96 19 #h3 37m69 | Z)I JIBHIES

13[E &F 96 [45°7 tna JIMGS[E B [ KA E
[—R%&F /27— (4.000kg) ]

Rank |FK#$ 5 | 2UHF B ELEFE PR
IR & 96 [I/5 JAT bimd4[iE E [EBfER
AEEIETS 97 |a%th /1 46mi8|= & FARUES
3|E = 96 [th"y 3% 45m83[= E  [HEEE
4l RKAR #F 96 [##4% vava 4m75|Z &1 [EAFEE
hlEA FFE= 96 914 F43 42m99| K B AEFRS
6| EZE 96 [M7 % 40m84[im E |ARAES
- 96 4ng pE3 40m30|F M s
SER BEZX 97 |4 IUF 40m06|= E  |[MIRES
9@y EEZX 97 [543 3 3Im34[X PR |BIFEKRES

10|NE BE 97 ¥4 )t mi2|iz E EHHES




[2—X%F Y (0.600ke) ]

Rank |E% £ |DUHF R HEFE B
TR =K 96 [hY 1N 373 FIENEE EEE T
AEEEE T 96 41 314 49m84 [ L =L G
/ML HhH A 96 WY 7h 48mb4|E B ARES
42% M 96 |74/ Br* 46m90(% W |LiEHd s
5|EH EF 96 1495 ab4 46m28|= B |EFAS
6|FE FlE 96 |van Ut 45m0(F EF |BEHREE
1 EM FHEE 96 [tFth 713 T EEEE S =
8|54 I 97 1347 32 45mb6|BE & RS
odtm  #7E 98 [¥45°F nhb 45m37[dtiEE  |[BIIES
10|55 F 96 [#v/ 1% 5m9E B |EEBEENS
[HEZ==E 97 E34Y ik 45m28|3 B AAZXFE
12|21F Fif 97 [ E % 45m07 (@ W |EUXRRFES
13 Z@E X¥KE 96 [¥7% Y 1l 45m05|E = BEZES
4|F% BE 96 ¥ 13 44md0| K 15 EBES
15[MAKX =DF 96 [vyxh #v% 44m39[m W | EBHAES
16(3H Lt ] 96  |4/91 M 44m3|E & ENEZS
17[8K %ujé 96  [Ax % % LmllE F | EHEES
18| KB K# 97  |###3 ik 43m66| K [ KREFS
19|#% 5% EJ%E?E 97 [37F) 7ah 43mb8[% | LimHdLE

20| H 3T 96 [¥z5 ¥4 43m38llx E | KIEFEE

&F & 97 |43 it 43m38[I B |EEMEES
22105974 3" 94 buIyh |97 FYT4 3 95 byIyh 43m2413% @ EWHMES
|EAR BX 96 |¥FY ¥ V33 43mi6|l 3 IEEE TS




